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BRI R0 K FR 2 O )R S 6t 53 1)

(HA7 :mg/L)

7 PCHT A 4 =il Bl Hilrh Bl B
X HE A= —R 210 210 210 210 210
HIX A, = K T = K T T BT T BT T BT
X 0120 0120 0380 0380 0380
HEES 000600 000700 000500 000600 000700
FH PR (m) 100.0 80.0 70.0 THH 70.0
&R FHP ! A~BA A~BA A~BA
FRX Sy Z Dt Z Dl Z D1 Z D Z D
PRAKEH B H28. 11. 11 H28.11. 11 H28.11. 11 H28.11. 11 H28.11. 11
ZKiR(°C) 15.2 15.0 15.3 15.8 13.6
BEXUREZR (mS/m) 18.9 19.8 20.2 18.2 18.2
pH 6.7 6.4 6.5 6.6 6.8
vrunairgs < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PusEfb R 3R < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
Bike =/ ~— < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
L,2-Y/uux iy < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
L1-Y/noxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/nnxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L,1,1-RF)rmaxg 0. 0021 0.0014 0.0018 < 0.0005 < 0.0005
1,1,2-F)7mnxi < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
Koozl < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
VANZA= =5 R 0.0010 0. 0005 0.0013 0.0011 0.0011
7 PCHT A 4 =il Bl Hilrh Bl B
X HE A= —R 210 210 210 210 210
XA Py AET Py AET Py AET Py AET Py AET
X 0380 0380 0380 0380 0380
HEES 000800 000900 001000 001100 001200
FH PR (m) 49.0 Nl 120.7 138.0 80.0
&R A~BA ! A~BA A~BA A~BA
Xy — R ER A T Dith — &R A — R ER A AERK
PRAKEH B H29.1.13 H29.1.13 H29.1.13 H29.1.13 H29.1.13
ZKiR(°C) 10.8 14.2 13.4 13.0 14.0
BEXUREZR (mS/m) 15.0 15.9 17.6 18.7 22.3
pH 6.4 6.6 6.8 6.7 6.7
vrunairgs < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PusEfb R 3R < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
Bike =/ ~— < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
L,2-Y/uux iy < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
L1-Y/noxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/nnxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L,1,1-RF)rmaxg < 0.0005 0. 0006 < 0.0005 0. 0007 < 0.0005
1,1,2-F)7mnxi < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
Koozl < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
VANZA= =5 R 0.0010 0. 0007 0. 0008 0.0010 0.0010
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BRI R0 i R FR 2 O ) VR 52 6t 53 2)

(HA7 :mg/L)

X HET A4 Bl

XA —R 210

H1 X 44 (RN

HIX = 0380

HFAES 001300

FHFEE(m) 80.0

B RHF N:L

&KX 5y HERAK

BAKEAH H29.1.13

7KIR(°C) 12.0

B RARE R (mS/m) 16.0

pH 6.6

vrana AR < 0.002

iR e < 0.0002

ke =18/ ~— < 0.0002

1,2-v/anx < 0.0004

1,1-r7aaxFL < 0.002

1,2-r7aaxFL < 0.004

1,1,1-N)7un=xy < 0.0005

1,1,2-N)7un=xy < 0.0006

N 7ooxFL < 0. 001

VANZA= == 0. 0006

X HET A4 b S S S S WS
XA = —R 204 204 204 204 204
H1 X 44 & S HET & S HET & S HET & S HET & S HET
HIX = 0230 0230 0230 0230 0230
HFAES 000100 000300 000400 000500 000600
FH G (m) 30.0 25.0 Nz 80.0 Nz
B RHF B EHF N B B
&KX 5y — %8R A — % B8R A T Dt — % B8R A —f%Er A
BAKEAH H28.11. 24 H28.11.22 H28.11.22 H28.11.22 H28.11. 22
7KIR(°C) 13.7 14.0 1.7 15.0 14.0
BRILEFE (mS/m) 18.1 11.5 1.9 14.4 11.0
pH 1.9 6.7 1.4 1.2 6.5
== 0.010 < 0.005 < 0.005 0. 008 < 0.005
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TE R R0 i R B2 (SR T S fti 5y 1)

X HET A4 ®IR™ ®IR™ ®IR™ ®iR
XA = —R 201 201 201 201
H1 X 44 EJAvY | EJAYY | EJAYY | EJAVY
HIX = 0050 0050 0050 0050
HFAES 001400 001500 001100 001600
FH G (m) 80 100 80 130
& EHF FHF FHF FHF FHF
&KX 5y Z D1t HERAK HERAK ZDh
BAKEAH H28.10. 25 H28.10. 25 H28.10. 25 H28.10. 25
7KIE(°C) 16.0 14.6 15.5 14.9
BRILEFE (mS/m) 22.0 25.0 22.0 24.0
pH 6.6 1.3 6.8 6.7
A== Y N < 0.002 < 0.002 < 0.002 < 0.002
AR SR < 0.0002 < 0.0002 < 0.0002 < 0.0002
1,2-7max < 0.0004 < 0.0004 < 0.0004 < 0.0004
1,1-Y/oaxFlL < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y7oaxFlL < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-FN)7uma=x=f < 0.0005 < 0.0005 < 0.0005 < 0.0005
1,1,2-N)7uma=xt < 0.0006 < 0.0006 < 0.0006 < 0.0006
N 7ooxFL 0. 001 < 0.001 0. 001 < 0.001
VANZA= == < 0.0005 < 0.0005 < 0.0005 < 0.0005
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(HA7 :mg/L)





